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3x2 —ax+8 = (3x-2)(x+ p)
=3x2+3px—2x-2p
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(ax - 5)(5x + b) = bax? + (ab — 25)x — 5b
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9. xX*-2xy+)y*-5x+5y+4E ITEolistH?

@(x—y—4)(x—y—1) @ (x_y+4)<x_y+1)
@ (x+y+4)(x+y+1) @ (x+y-4)(x+y-1)
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= (x=y)? = 5(x—-y) +4
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O x-1,x-y @ x-1,x+y ® x+1,x-y
@x+1,x+y ® x,x+y

@ 2x% - 8x% — 10x = 2x(x? —4x - 5)
=2x(x-5)(x+1)
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x+4=rt2totH

(t+y)(t—y) - 16x

=12 —y2 - 16x

= (x+4)% - 16x — y?
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@D 41-2243 @ 224413 @ 22-413
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a+2=12= 2%stA
3a+2)?2-2a+2)-8

=32 -2-8

= (1-2)(3t+4)
=(a+2-2){3(a+2)+4} =a(3a+ 10)
= (V3+2)(3V3 +16)

=41+22+3
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b3 + b%c + be? — a®b + ¢ - a’c
=b%(b+c)+ b(c? —a®) + c(c? - a?)
=b%(b+c)+ (b+c)(c? —a?)
=b+c) (b +c2-d*)=0

b, = 7o) o] Loo|nz Folet,
o2t b2 + 2 —a? =0, b% + 2 =a?
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_ (2x+1)(3x—-4)
4x + 2
_ (2x+1)(3x—4)
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